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h1

h2
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hs
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2. BRES&M

1) (REVEE H = 2.0 m
2) XM FEETE
a. HEHFR Py = 3.0m
b. AR A7 TG h, = 1.70 m
L TRRGA NS A — R SAR S ¢ oD
h, = 0.15m
c. BENATE L, = 1.97 m
HEX A7 EREER LD TBIRB A7 ETCORERE
hy = 1.70m
d. B A7 b = 1.00 m
RANGRS hy = 0.80 m
3) At
VAV H—ReiRk A
R SGC400
wE 0.8 mm
Bxig W = 54 cm
Wi fREx Z = 1.46 cm®
TEMT R E BRTEDH1.3MF3 5
fb = 16300 N/cm®*X1.3= 21190 N/cm®
pasd X
EH & d = 486 cm
wmE 2.4 mm
M B STK500
W T A = 348cm’
W AR 4K Z = 383cm’
W T 29K 8 i = 1.64 cm
T BN AR EDED1.3ET5
fb = 23430 N/cm®X1.3= 30459 N/cm®
3 T a N
it 73 AREDRD1.ETSD
BRI77 4900 N/fE X 1.3= 6370 N/f&
HIEZF T 3430 N/fE X 1.3= 4459 N/&
4) Ht A
MO E
N = 200 kN/m® = 20.0 N/cm®
2m-2
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. BT E
R EORINITIGD R TR A E I 42 RBOREBARER 1

RENDFHEARERA L,

1) BEH EGE
V,=Vy+Ke+ S+ Ex
B RN REE TRIIRET S
V, : #h EBIZITBITHEREHERE

Vo @ FEHERGE 18.0 m/s
16~20m/sD>H —f 722 Higki &£ F

Ke : BREFEIEAK 1.00
FUM - A PR — AR A Ao v 5

S : #i EEIZITEIT DR EGE AR SR 1.50
1 EASDEHE0~5m,/ B - HE

Er : THERRBREYICLOEHEREK 1.00

L mB R (H350mLl b) BEVIEEM, BEN TV 56

R EFMER AN REEZRD S
V,= 27.0 m/s

2) & +J¥JJ$J#F
= 5,/8V,?
qz : M EBX(Zm) Iz 555 AEEE
V, : #i EEEZIZEIT A3 EH EGE (1 EFHEE)
NICEZ AR AEELEERD D
;= 455.6 N/m’

3) ESt%%
C=1(0.114+10.945C, ‘R) * F
C : RIFRE
R : R (G EDESOBE) 0.58
: EARRNFRE(RER=1) 2.00
F : HEBENMNEICLHHIERE I EE) 1.00
_Ux_J:_E"ﬁ'é"J\i}’bﬂj?ﬁ“#C%*&bé
Cc= 1.21
4) B E
P=gq;*C
P : RZEH
N2 3HHEEE ANEAFRTELRDD
P= 5496 N/m’ = 0.055 N/cm®
2m-3
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4. {REVVROMRET
B RSHIZVDHE

w= PW= 0.055 N/cm® X 54 cm= 2.97 N/cm
T E— AR 2
weL? 2.9677 N/cm X 170 cm
M= = = 10721 N+cm
8 8
HT IR A
M 10721 N+cm
c=""" = —————— = 7343 N/cem® < 21190 N/cm®
z 1.46 cm®
5. R A7 OREt
BN EIHEVDORE
w= P-W= 0.055 N/cm” X 100 cm= 5.50 N/cm
fhifE—Ab 2
weL? 5.50 N/cm X 300 cm
M= = = 61827 N-cm
8 8
i)
M 61827 N-cm
co=""" = T = 16143 N/’ < 30459 N/cm”
7 3.83 cm®

2m—4
GK-0.8



6. HEX /AT OB
D#H &
LE AR ST L0 DR E
P,=P - Pw- (H/2)
= 0.055 N/cm”X 300 cm X 100 cm= 1649 N

2) A AT TN 5% )

P, 1649 N
Q= = = 3252N
cos 0 0.51
3) FEIEDORET
iip g
Lk 197 cm
1= =" = 120
i 1.64 cm
HHE PR R b
A=p/ n*E/0. 6F= 97.6
F= 35500 N/cm®
FoT
A > A DT-HWNEERL ., FFBBIBIG N5 RDD
TR R I
0.29 0.29 X 35500 N/cm®
fk= —— F = = 6781 N/cm®
(L/A)? (1203 + 97.60 )2
JERBIS SRR | F AR SBT3
Q 3252 N/cm2
oe=""—" =" = 934 N/cm’ < 6781 N/cm®
A 3.48 cm”
4) R AT X R DOBFES B O
Q= 3252 N < 4459 N/fE=BEZ 7 7Tt /1
2m-b5
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8. EMEEHOWRE

HEETNbAENE
No= P;-tanf = 1649 NX .70 = 2803 N
EBIIb 53k
To= - Np=  -2803N
THIARBE R4 T ORRET
h : BEERAMTORANES 0.80 m
N : HBOHFFISHE
N= 200 kN/m* = 20.0 N/cm®
d : B AMTHAR 48.6 mm
1) XFH
1 N x +d?
Qy=—— (m+d*h — +40'N- )
1.5 5 4
1 20.0 N/cm’
= — x( 3.14X 4.86 cm X 80 cm X
1.5 5
2
3.14X  4.86 cm
+ 40 X 20.0 N/cm® X )
4
= 13144 N > Np= 2803 N
2) BlRIEHLA
1 N
Q= — °<*xe+d*hs —
1.5 5
1 20.0 N/cm?
= — X 3.14X 4.86 cm X 80 cm X
1.5 5
= 3256 N > To= 2803 N

2m—6

GK-0.8



